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No.1 TRECEHE G E
T fE g H i H®H K ¥ & AL
e fE T
EiEERROIMT  As HEEDM TR ESR = 64. 60 65. 00
t=4cm m
SRR AEREGA  t=4cem SSRGS EES. 0HEfT I 21,0 = 39. 00 39. 00
m?2
FEM TEME  AsBE L=6.8km |39%0. 04 = 1.56 2. 00
AR E m3
W EdE L TR METHE LS (11.340.9+1.9) /2.5 = 5. 64 6. 00
U360, H HAEA#E400, B350 m3
BEREME TR, .=6. 8km = 5. 64 6. 00
AR E m3
HEMBUE L EfjCo WETFHEESR = 0.17 0. 20
ot m3
FEM TS AT Co L.=6. 8km = 0.17 0. 20
AR E m3
BER AL 55
JFERA AL ER 1.56%2.3/1.8 = 1.99 2. 00
AsBfl m3
BERA JLER (11.3+0.9+1.9) /1. 8 = 7.83 7. 80
TR m3
JFERA SR 0.17%2.35/1.8 = 0. 22 0. 20
EfFCo m3
+T
Ak A 1) + PR EH L E29+BF450 X 58 = 37. 00 37.00
m3
e OE K EFHAEESR = 61.90 62. 00
LY m2
ML  fHED +EEEHELE6. 0+BF450[X 2.0 = 8. 00 8. 00
BERE+ m3
R AEM 1=2km 37-8/0.9 = 28. 11 28. 00
B & P~ m3
B+ A Hh = 28. 11 28. 00
m3
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No.2 TRECEHE G E
T f | Mmoo H s A L
IKEE - PEWE T
EWT FH B AR 400X 400 | B H 20 BRI =B X 2 R = 49. 00 49. 00
m
(%) SHLpEay))-b t=5em 0. 68%0. 05%49. 0 = 1.67 1. 67
18-8-25BB %:%0. 34m3/10m 4 m3
(%) ARG t=10cm 0. 78%0. 1%49. 0 = 3. 82 3.82
RC—-40 £#0.78m3/10m 4 m3
(&%) ST P 0. 05%49. 0%2 = 4. 90 4. 90
£#1.00m2/10m 4 m?2
N =havp)=b  t=21em (EH) [0, 4%0. 2149, 0 = 4.12 4.10
18-8-25BB m3
V=) EEER OMEWTAH T-20 = 2.00 2.00
4007 L=500 SHEE TE D7 B
) - EBER T-25 (49.0-2.0)/2/0. 5 = 47. 00 47. 00
400%! 12500 54
BT B B AEANE 400400 | B H1 20 B0 BH ) 2 B = 4.00 4. 00
m
(%) SHEREa)-b t=10cm 0. 68%0. 1%4. 0 = 0.27 0.27
18-8-25BB %:%0.68m3/10m 4 m3
(%) SCILEEREG t=10em 0. 78%0. 1%4. 0 = 0.31 0.31
RC—-40 £%0.78m3/10m 4 m3
(&%) ST P 0. 1¥4, 0%2 = 0. 80 0. 80
£#2.00m2/10m 4 m?2
AN =havp)=b  t=16em (GEEJ) [0, 4%0. 15%4. 0 = 0. 24 0. 20
18-8-25BB m3
Vv=fv) EEGR O BEMTH T-25(4.0/2/1.0 = 2.00 2.00
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BB A1) -V UBMAITE 450 | B B AEUITE RIS IR0, 6%2%5 = 6. 00 6. 00
=600 P& m
(%) SCILEEREG t=10em 0. 610, 1%6. 0 = 0.37 0.37
RC—-40 £%0.61m3/10m 4 m3
AN =basy)=b t=21em (GEEJ) 0. 4%0. 21%6. 0 = 0. 50 0. 50
18-8-25BB m3
JTVv-Fu)T EER BEU450/  T1-6(6.0/0.6 = 10. 00 10. 00
12600 385 B
pth9.81~ [N F TV a—2L 450 i X2 HR79. 81-59. 81 = 20. 00 20. 00
79. 81[1.=2000 m
(%) ARG t=10cm 0. 59%0. 1%20. 0 = 1.18 1.18
RC—-40 £%0.59m3/10m 4 m3
pt79. S1LIRE | R F 7 U 2 —24 350 S X 2 B = 2.00 2. 00
172000 SPERR KB EGE RS m
URIHNE 300 AT E RS = 5. 00 5. 00
HU30BARE KEEKBEBER R m
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18-8-25BB m3
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m?2
(&%) SILHER A t=15em BT A50%450%500 B I 2 IR = 0. 90 0. 90
RC-40 m?2
BERR & 9 & B RS - a6 = 1. 00 1. 00
e S B
pt79. 81 ft  B450L450H400 AT = 1. 00 1. 00
(&3
(&%) ar s J—F FF450%450%400 B {0 5 IR = 0.18 0.18
18-8-25BB m3
(&%) ST P HH450%450%400 B 4 2 5 B = 2. 64 2. 64
m?2
(%) WO t=15em H450%450% 4008 {1 & £ IR = 0. 90 0. 90
RC-40 m?2
FEWrRE R T
(pth1. 0fF3T)
a7 J— MK t=6.5cm  [FEEX SR = 1. 40 1. 00
B A B AAR#E400 181 i m
REJEH  SSC400 Bifer TN EZ IR0, 23kg/1000 = . 0002 0. 0002
BRIEHH 19X12  L=130 t
Ty A—Ar b (RIRITIAR) Bk THIHIES R = 8. 00 8. 00
M6 (W1/4) X 30mm ZIEs]
27 Y — MHIFL 7 > 1 —R v MTIAGE T = 8. 00 8. 00
HIFLEE10mmEL T EIFLIEL1OecmEA T fL
HEET
TR T  t=25cm MR AR ES R = 18. 00 18. 00
RC-40 m?2
AR T t=10cm MR AR ES R = 18. 00 18. 00
Bigaea M-25 m?2
RREEEE 4. 2%5. 0 = 21. 00 21. 00
SRR m?2
FKEL t=4cm (FJFH) MR EES R = 18. 00 18. 00
PR BRI EAS20F m2
FETL t=4cm (HiH) iR EERATH = 21. 00 21. 00
PR BRI EAS20F m2
EREAET
FPRAT (Z24) 1. 67+0. 27+4, 12+0. 24+0. 5+0. 1740, 18 = 7.15 7.15
18-8-25BB (M%) m3
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—REGEE
538 FU360 552 / 10 x 0204 t = 11.261 t 11.3
SEZEE L=1.0m 204ke
B B A E{A1i#400 40 / 20 * 0454 t = 0908 t 0.9
SEZEE L=20m 454keg
BF350 200 / 20 % 0193 t = 1930 t 1.9
SEZEE L=2.0m 193ke
avy)—MEE
WISTH EMREEELLTHET S
Mo 7Y — MARE:0.17m° m3 0.2




+ T (BF450[X ) it B £ —zt Y
£ {5 .18 = By 4
BF450 20mRXfEi+ T
fiEE 0.4 * 200 8.00 m3 8.0
BEREL 0.1 * 200 2.00 m3 2.0




HEEE iHoE = —ty
-] 5 L1y =X By M &
B 4B {Ali#400%Y
0.78 53.0 41.34 m2 413
B U450 (ELVS)
061 * 06 * * 5 = 366 | m2 3.7
H450%!
0.95 0.95 2 = 181 m2 1.8
RUF 1) 21—1.450
0.59 20.0 11.80 m?2 1.8
ANUFT1)1—1350
0.49 20 0.98 m2 1.0
W300 (E2U30BFETE)
0.46 5.0 2.30 m?2 2.3
ast 61.9




B B4 ECEIE  400%400 (OMEIFEHE L &) B A 10m4 Y
H=400

ZRELS & 5
W400%h400
HEEIVH)-k hERT &Y m3 0.34
(18-8-25BB)
Eilg e Hh5eaYg &Y m2 1.0
M HeOy &Y m3 0.78
(RC-40)t=100
HEgar9)—k 0.40 * 021 * 100 = 0840 m3 0.84
(18-8-25BB)
73519 0.78 * 100 = 780 m2 7.8
BZE L=500 & 10




BB AERAEGEETE) 400%400 (OM{AEE L S) B # = 10mY

H=400
—REG & 5
V400+h400 (17 FA
E#Eav))-t+ hBERY &Y m3 0.68
(18-8-25BB)

By HERT &Y m2 2.0
WM hBEOT &Y m3 0.78
(RC-40)t=100

wEaVH) -+ 040 % 015 *x 100 = 0.600 m3 0.60
(18-8-25BB)

FRHL 078 % 100 = 780 m?2 7.8

gL—F245 T-257R)LREE  L=1000 & 5




NG T B # = 1R LY

ZREG & 2

(BEE FU450)

EHEM 0.61 * 120 = 073 m2 0.7
(RC-40}t=100

FR#L 061  * 120 = 073 m?2 0.7

gL—F5 EH U450/ & 2




BF450 BR # = 10m%4Y
BF450
ZREE & 5
(BF450)
HREH 059 % 1000 5.90 m?2 5.9
(RC-40}t=100
BRigL 059 %  10.00 5.90 m?2 5.9




Bt 450%450%500 Bl #1 = 1Ry

avy)—p 075 * 075 *x 065 — 045 * 045 * 0.50 m3 0.17
(18-8-25BB) -( 030 * 015 + 019 *015 + 014% 015 )= o170

Einp ( 0.75 * 4 + 045 * 4 )% 065| m2 3.1
€3 = 3.120

EwEH 0.95 * 0.95 = 0.903 m2 0.9

(RC-40,t=150

R¥L 0.95 * 095 = 0.903 m2 0.9

avy) —MEREE
To=A=8—&Y
B A ECfAl#E - - - -0.30m2
BF450- - - +0.19m2

W=300-++-0.14m2 (EEU30B&AETE)




¥t 450%450%400 = E-£D
avy)—p 075 * 075 * 055 — 045 * 045 m3 0.18
(18-8-25BB) -( 019 * 015 + 015 * 015 )=
Einp ( 0.75 * 4 + 045 m2 26
€::3:7))
EwEH 0.95 * 0.95 = 0.903 m2 0.9
(RC-40)t=150
FR¥L 0.95 * 0.95 = 0903 m2 0.9

av9) —MEREE
TS3=A-a—&Y
BF450- -+ +0.19m2

BF350++-+-0.15m2




EHELT B # = 1 4Y
3 — Rl m 14
. ﬁﬁ?ﬁéﬁlﬁ] 0.13 * 0.446 * = 0.23 kg 0.23
19%12
- FUh—RILE PN 8.0
(@avsy—rm)
g S A R 2 o =t 10




T IF :f & =
[E N EE R | X 7 26 e il 1) B m TRl | ERL
BBl | ERLC BBl | Bl
0.00 0.40 0.10
20,00 20.0 050 010 0.45 0.10 9.0 2.0
28.60 8.6 050 010 0.50 0.10 43 0.9
20,00 114 050 010 0.50 0.10 5.7 1.1
5520 15.2 050 010 0.50 0.10 7.6 1.5
59.80 46 050 010 0.50 0.10 2.3 0.5
28.9 6.0 0.0
HEt 29 6 0




WEERE if B =
R G B @&  i& E T B om Er P PR AT
EETIHEETRES RE T | A ERE
0.00 0.30 0.30
20,00 20.0 030 030 0.30 0.30 6.0 6.0
28.60 8.6 030 030 0.30 0.30 2.6 26
20,00 114 030 030 0.30 0.30 3.4 3.4
5520 15.2 030 030 0.30 0.30 46 46
59.80 46 030 030 0.30 0.30 1.4 1.4
18.0 18.0 0.0
=111 18 18.0 0
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